= Lexus GX550 & LC 250 Blitz Slider Install

(x24) | 1/2"-13 Serr. Flange Nut (x24) | M6 x Tmm x 20mm (x10) | 1/4"
washer (x10) | M6 x Tmm Clip Nut (x10) | 5/16"-18 x 1" (x28) | 5/16"
Washer (x28) | 5/16"-18 Serr. Flange Nut (x16) | 5/16"-18 Clip Nut (x12)

E Included Hardware: 1/2"-13 x 1" Hex Head Bolt (x24) | 7/16" USS Washer

Included Hardware: M10 x 1.25mm x 30 mm (x18) | 1/2"-13 x 1" Thread
Cutting Bolt (x6) | 5/16"-18 x 1" Hex Head Bolt (x2) | 1/4" USS Washer (x2)
| 5/16"-18 Serr. Flange Nut (x2) | 3/8"-16 x 1" Hex Head Bolt (x6) | 5/16"
USS Washer (x6) | M8 x 1.25mm x 25 mm (x2) | 1/2"-13 x 1" Hex Head
Bolt (x2) | 7/16" USS Washer (x6) | 1/2"-13 x 1-1/2" Hex Head Bolt (x2) |
1/2-13 Nut (x2)

Process Ref. No: 13 Date: 29/07/2024 CYCLE TIME: N/A
Revision: 1.000 Revision date: 23/08/2024 Page 1 of 16 Author: Colin



https://gembadocsapp.page.link/ra12LcH9t9MEUesg8

o =vu=
\/

Process Ref. No: 13
Revision: 1.000 Revision date: 23/08/2024

Lexus GX550 & LC 250 Blitz Slider Install

included parts

Date: 29/07/2024
Page 2 of 16

Feedback?

CYCLE TIME: N/A
Author: Colin



https://gembadocsapp.page.link/ra12LcH9t9MEUesg8

the 10-24 hardware and spacers.

Process Ref. No: 13
Revision: 1.000 Revision date: 23/08/2024

Feedback?

Lexus GX550 & LC 250 Blitz Slider Install

TP el N
HE" ISR S

Begin by installing the rock lights on the inside of the ends of each slider using Use 16 ga wire to tie the lights together. Exfend a pig tail off of the wires

where they meet. The pig tails should be stuck though the opening between
the middle and rear mounting plates. The sliders are symmetric, so it can be
decided which end is the rear and which end is the front at this point. 68" wire

Date: 29/07/2024 CYCLE TIME: N/A
Page 3 of 16 Author: Colin



https://gembadocsapp.page.link/ra12LcH9t9MEUesg8

Feedback?

=
A

f
l“

VL Lexus GX550 & LC 250 Blitz Slider Install
7

8

Jatameete

AR vy
(3

ST R e A PR . Sl Bl £ & - i e i

The wiring should look something like the image shown. Cover each Bolt the skid plate onto the bottom of the slider using the 5/16" button heads
connector with heat shrink or electrical tape. and washers washers and flange nuts.

Process Ref. No: 13 Date: 29/07/2024 CYCLE TIME: N/A

Revision: 1.000 Revision date: 23/08/2024 Page 4 of 16 Author: Colin



https://gembadocsapp.page.link/ra12LcH9t9MEUesg8

Feedback?

I =y= Lexus GX550 & LC 250 Blitz Slider Install

st & Wy - B

Remove the three plugs shown with a pry tool. Also remove the clip holding Remove the plastic panel underneath the body mount. To do this, use

the hardline to the frame. something like a screw driver to push up and in on the two recessed tabs
while pulling down on the panel.

Process Ref. No: 13 Date: 29/07/2024 CYCLE TIME: N/A

Revision: 1.000 Revision date: 23/08/2024 Page 5 of 16 Author: Colin



https://gembadocsapp.page.link/ra12LcH9t9MEUesg8

Feedback?

ﬁ\jca =y Lexus GX550 & LC 250 Blitz Slider Install

Remove front mount and drill each of the holes. The two rearmost holes

need to be drilled to 7/16" to accept 1/2" self tapping bolts while the other

hole needs to be drilled out to at least 9/16" to allow for a 1/2" bolt to pass
freely through it.

| S - [ i\
Install the front mount using the M10 bolts from the bottom. Then mark the
three remaining holes for drilling.

Process Ref. No: 13 Date: 29/07/2024 CYCLE TIME: N/A
Revision: 1.000 Revision date: 23/08/2024 Page 6 of 16 Author: Colin



https://gembadocsapp.page.link/ra12LcH9t9MEUesg8

'J- R + ¥ AT 5! @ DR,
™ ol R S

Reinstall the froﬁt mount. U se 1/2" s-elf tappefs on

rear holes, nd 1/2" bolt

Lexus GX550 & LC 250 Blitz Slider Install

"
A /

Remove the bolts holding the fuel pump controller to the fr

and nylock nut in the front with a washer on each side. reach through the hole out of the way temporarily.

below the body mount to tighten the through bolt.

Process Ref. No: 13
Revision: 1.000 Revision date: 23/08/2024

Date: 29/07/2024
Page 7 of 16

Feedback?

ame and move it

CYCLE TIME: N/A
Author: Colin



https://gembadocsapp.page.link/ra12LcH9t9MEUesg8

Feedback?

Ok =y< Lexus GX550 & LC 250 Blitz Slider Install

B S R <Rl O

Temporarily install .the rear mount with M10

e 4 IR = -~

bolts in front and the factory fuel  Uninstall the rear mount and drill the hole out to 7/16" to accept a 1/2" self
pump controller bolts (passenger) or another M10 bolt (driver) in the rear and  tapper.

mark the lower rear hole for drilling.

Process Ref. No: 13 Date: 29/07/2024 CYCLE TIME: N/A
Revision: 1.000 Revision date: 23/08/2024 Page 8 of 16 Author: Colin



https://gembadocsapp.page.link/ra12LcH9t9MEUesg8

Lexus GX550 & LC 250 Blitz Slider Install Sl

Cut the small tab off of the fuel pump control module bracket. This can be Loosely reinstall rear mount, mounting the fuel pump control module back into
done with tin snips. its normal position stacked on the mount. This can again be done using the
factory bolts.

Process Ref. No: 13 Date: 29/07/2024 CYCLE TIME: N/A
Revision: 1.000 Revision date: 23/08/2024 Page 9 of 16 Author: Colin



https://gembadocsapp.page.link/ra12LcH9t9MEUesg8

Feedback?

Ok =y< Lexus GX550 & LC 250 Blitz Slider Install

ST sz 25 I

4

The rear mount will need to go around the KDSS module on the driver side if ~ Finish loosely installing the mount and install the thread cutting bolt. A 5/16"
the vehicle is equipped with it. This can make it difficult to reach the top M10  hex head bolt, 1/4" USS washer and flange nut should also be installed

bolt in the rear but it is accessible with a wrench through the cutout in the through the hole in the center of the mount. T hen, remove the front M10 bolts
bottom of the mount. one last time to begin the install of the mid mount.

Process Ref. No: 13 Date: 29/07/2024 CYCLE TIME: N/A
Revision: 1.000 Revision date: 23/08/2024 Page 10 of 16

Author: Colin



https://gembadocsapp.page.link/ra12LcH9t9MEUesg8

Feedback?

Ok =y< Lexus GX550 & LC 250 Blitz Slider Install

<2 o e

Loosely install the middle mount using the M10 bolts in the front and back. Slide the provided spacer in place between the frame and mount.
The back should mount over the front of the rear mount.
Process Ref. No: 13 Date: 29/07/2024 CYCLE TIME: N/A

Revision: 1.000 Revision date: 23/08/2024 Page 11 of 16 Author: Colin



https://gembadocsapp.page.link/ra12LcH9t9MEUesg8

Feedback?

Lexus GX550 & LC 250 Blitz Slider Install

B 124

e

_ " ' ) ‘ R
If you are installing with our Transfer Case Skid, install the mount under the Install nut strip 3 using the 3/8" hex head and 5/16" USS washer as shown.
skid bracket as shown. The spacer will not be required in this case. Insert the nut strip through the hole in the side of the frame and rotate it to
position the nut over the hole in the bottom.
Process Ref. No: 13 Date: 29/07/2024 CYCLE TIME: N/A

Revision: 1.000 Revision date: 23/08/2024 Page 12 of 16 Author: Colin



https://gembadocsapp.page.link/ra12LcH9t9MEUesg8

Feedback?

I =y= Lexus GX550 & LC 250 Blitz Slider Install

Install nut strips 1 and 2 through front hole. Nut strip 1 installs though the side Install the slider onto the mounts using the 1/2" hex heads, 7/16" USS washer
of the frame using a 1/2" bolt and 7/16" USS washer while the 2 installs and flange nuts. It is best to do this with the mounts slightly loose.

through the bottom using the 3/8" bolt and 5/16" USS washer.

Process Ref. No: 13 Date: 29/07/2024 CYCLE TIME: N/A
Revision: 1.000 Revision date: 23/08/2024 Page 13 of 16 Author: Colin



https://gembadocsapp.page.link/ra12LcH9t9MEUesg8

Feedback?

Ok =y< Lexus GX550 & LC 250 Blitz Slider Install

f s Vi b & Y :
il “‘, y g £ “ : : T Fa
< /i yé:__ =2 &. ot e

Tape the wires down into the grooves so they can't get pinched when Put all clip nuts onto the slider. The smaller M6 clip nuts go on the vertical
installing the steps. flange while the larger 5/16" clip nuts go on the horizontal flanges.

Process Ref. No: 13 Date: 29/07/2024 CYCLE TIME: N/A
Revision: 1.000 Revision date: 23/08/2024 Page 14 of 16 Author: Colin



https://gembadocsapp.page.link/ra12LcH9t9MEUesg8

Feedback?

ﬁ\jca =y Lexus GX550 & LC 250 Blitz Slider Install

i

Slide the step into the opening and adjust it.until itis in place. Then, loosely Finally, install the tread plate on top of the step using the 5/16" bolts and
install the M6 bolts and 1/4" washers into the top of the step. washers.

Process Ref. No: 13 Date: 29/07/2024 CYCLE TIME: N/A
Revision: 1.000 Revision date: 23/08/2024 Page 15 of 16 Author: Colin



https://gembadocsapp.page.link/ra12LcH9t9MEUesg8

Feedback?

ﬁ\jca =y Lexus GX550 & LC 250 Blitz Slider Install

Pop the plastic panel back in beneath the body mount and tighten -aII
hardware to finish the install.

Process Ref. No: 13 Date: 29/07/2024 CYCLE TIME: N/A
Revision: 1.000 Revision date: 23/08/2024 Page 16 of 16 Author: Colin



https://gembadocsapp.page.link/ra12LcH9t9MEUesg8

